Name: 2-Digit Subtraction (no regrouping)

4 I
L The Horse Needs a Doctorl )

Subtract to find the differences.
Then match the letters to the
blanks below to solve the riddle.

(s] 27 1] 59 (1] 64
-13 - 6 -22

1] 92 H] 83 o] 75 o] 56 (E] 99

Where did the farmer take his sick horse?

52 50 53 56 66

11 13 12 14 31 23 20 42 61 43
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ANSWER KEY

2-Digit Subtraction (no regrouping)

4 I
L The Horse Needs a Doctorl! )

Subtract to find the differences.
Then match the letters to the
blanks below to solve the riddle.

(s] 27 59 64
-13 - b -272
14 53 472
H] 87 I] 45 (P] 56
56 20 23
(E] 49 (A] 68 (R] 62 (L] 49
-18 - 7/ - 50 -6
] 1 12 43
92 (H 83 ©o] 75 O] 56 (E] 99
- 40 -72 - 25 - 43 -33
52 11 50 13 66
Where did the farmer take his sick horse?
T (@) T H E
52 50 53 56 66
H (@) R S E P I T A L
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